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>>help avifile/close
CLOSE AVI 77 A N~DEALEKTL, 774 NVEHALD
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>>help avifile/close
CLOSE AVI 77 A N~DEABEKET L, 774 NVEHLD
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close all;clear all

x=0;y=0;theta=pi/2;

v=1;steering=0;dt=1,;

vehi=[0,1,1,-1,-1,0;2,1,-1,-1,1,2];

D=.5;

thetal=theta-pi/2;
R=[cos(thetal),-sin(thetal);sin(thetal),cos(thetal)];
newvehi=R*vehi;

trajectory=[x;y];
hvehi=plot(newvehi(1,:)+x,newvehi(2,:)+y,trajectory(1,:),
trajectory(2,:),'r:");

axis([-20,20,-20,20]);axis square;
hsteering=uicontrol('style’,'slider’,'max’,90,'min’,-90,'value',steering);
hv=uicontrol('style','slider','max’,1,'min’,0,'value’,v);
set(hv,'position’,[20,60,60,20]);
hsteeringtext=uicontrol('style’,'text’,'string’,[num2str(steering),'deg,
'position’,[20,40,60,15));

hvtext=uicontrol('style’,'text’,'string’,[num2str(v),'m/s’],'position’,




[20,80,60,15]);
hstep=uicontrol(‘position’,[20,100,60,20],'string’,[,num2str(dt),'s/push’);
set(hsteering,'callback’,'flag=1;vehilsub;’);
set(hv,'callback’,'flag=2;vehilsub;?;
set(hstep,'callback’,'flag=3;vehilsub;");
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close all;clear all

x=0;y=0;theta=pi/2;

v=1;steering=0;dt=1,;

vehi=[0,1,1,-1,-1,0;2,1,-1,-1,1,2];

D=.5;

thetal=theta-pi/2;
R=[cos(thetal),-sin(thetal);sin(thetal),cos(thetal)];
newvehi=R*vehi;

trajectory=[x;y];
hvehi=plot(newvehi(1,:)+x,newvehi(2,:)+y,trajectory(1,:),
trajectory(2,:),'r:");

axis([-20,20,-20,20]);axis square;
hsteering=uicontrol('style’,'slider’,'max’,90,'min’,-90,'value',steering);
hv=uicontrol('style','slider','max’,1,'min’,0,'value’,v);
set(hv,'position’,[20,60,60,20]);
hsteeringtext=uicontrol('style’,'text’,'string’,[num2str(steering),'deg,
'position’,[20,40,60,15));
hvtext=uicontrol('style’,'text’,'string’,[num2str(v),'m/s’],'position’,
[20,80,60,15]);
hstep=uicontrol(‘position’,[20,100,60,20],'string’,[,num2str(dt),'s/push’);
set(hsteering,'callback’,'flag=1;vehilsub;’);
set(hv,'callback’,'flag=2;vehilsub;?;
set(hstep,'callback’,'flag=3;vehilsub;");
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p=[11;12;13;12g;13g;m2;m3;12;13;g;taul;tau?])
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p=[11;12;13;12g;13g;m2;m3;12;13;g;taul;tau?];
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>>T03(1:3,1:3)

ans = 1.0000 0 0
0 0.7501 0.6613
0 -0.6613 0.7501

>> [a,th]=r2ath(T03(1:3,1:3))

a= -1.0000
0
0
th = 0.7226
>> [a,th]=r2ath(T03(1:3,1:3))
a= -1.0000
0
0
th = 0.7226
>> ath2r(a,th)
ans = 1.0000 0 0
0 0.7501 0.6613
0 -0.6613 0.7501
1E
>>T03(1:3,1:3)
ans = 1.0000 0 0

0 0.7501 0.6613
0 -0.6613 0.7501
>> [a,th]=r2ath(T03(1:3,1:3))
a= -1.0000
0




0

th = 0.7226
>> ath2r(a,th)
ans = 1.0000 0 0

0 0.7501 0.6613
0 -0.6613 0.7501
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>> clear all;arm(1).parent=0;arm(2).parent=1;arm(3).parent=2;
>> arm(4).parent=2;arm(5).parent=4;
>>% FU 7 DERET D,
>> arm= vectestOmakechildlink(arm)
>>0%A T v I ARMNT 5,
>> jdx= vectest9findallchildren(arm)
idx = 1 2 3 0
1 2 4 5
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>> clear all;arm(1).parent=0;arm(2).parent=1;arm(3).parent=2;
>> arm(4).parent=2;arm(5).parent=4;

>>% TV 7 DERET D,

>> arm= vectestOmakechildlink(arm)

>>0%A T v I ARMNT 5,




>> idx= vectest9findallchildren(arm)
idx = 1 2 3 0
1 2 4 5
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